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Note :— Answers may be written either in English or in Hindi;
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paper.
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Attempt all the questions.
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1. State True or False:
(a) An Indian company is liable to pay tax on all

incomes whether received in India or outside Indiy.
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(b) Deem
ed owners renta] :
8 rental INCome jc
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100 1n respect of - ;
! medical insur 4
surance premium

u/s 80D is allowed on Payment basis. (5)
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2. Mr. Amit, a private sector employvee receives the
following emoluments during the year ending March
a1, 2013:

(1) Basic Pay Rs. 70.000 per month.
(2) Commission Rs. 10,000.
(3) Bonus one month’'s Basic Salary

(4) Entertainment allowance: Rs. 50.000 per annum

(actual expenditure incurred Rs. 15.000 per annum)

(5) Leave travel concession for proceeding on leave

(expenditure on air fare: Rs. 60,000): Rs. 72.000

(6) Hostel expenditure allowance for one child
(expenditure being Rs. 45,000): Rs. 1,000 per

month.

(7) Reimbursement of education expenses of two

children Rs. 40,000.

PLL0)



4

(8) Employer’s and Employee’s contribution towards

recognized Provident fund @ 15% of salary.

(9) Interest credited to hjg
year @10% is Rs, 12,000.

(10) Servant and cook allowance Rs. 50
respectively.

(I11) Free car facility for his family members only for
Private use (expenditure of the em

ployer including
Wear and tear: Rs. 26,000)

OR

(a) Salary may be taxable on du

€ basis or receipt
basis. Discuss.

(¢) Mention any five deductions under Se

Provident fung during the

0 per month

1458 ?

Fieer sifim, fAsht &= = = ad 31 39 31 99 2013 =
A B¢ 99 % IR Frafofes oRafeat o 2 @

(1) ¥ ¥97 - 70,000 & Ul wWE
(2) =T - 10,000 T
(3) v W 0 o Ao A B X

(4) #FRET W=- 50,000 % 9f¥ a¥ (I ¥ 15000 ® fy
af = e )

(5) s A R3mad, @ W = W W- 72000 %
5 r
(7 e W 60,000 = @4 fay)

(6) v == & fore ommEm @ w1 1000 ® W WE (@

45000 & W)
(7) & == = forg firen =@ & ufaaf- 40000 =
(8) #r=zem urs sfasy ffer § Faean sk w==m@ &1 AneE

AT D 15% I R Al

PT.D:



1458 A

1458 7
(9) maf 10% = Jat wfas Al F 12000 ® =T 3. (a) Mr. Devesh own a house at Delhi whose municipal
& T F ) value is Rs. 2,00,000 and fair rent is Rs. 2,40,000.
During the previous year the house was vacant
(10) Fw 3 Heg @0 swe- oo 500 % ufgems from 1.4.2013 to 30.06.2013. It was let out for
residential purposes on 1.07.2013 @ 18,000 p.m.
(n) Fgew @ H gl 3eR aRar @ = # ﬁr{ft He makes the following expenditures in respect
SHER @ o (zaw @, T W @ whw ey of the house property:

26000 % i 3 ) Municipal taxes Rs. 8,000; Repair: Rs. 10,000; Fire

Insurance premium: Rs.7,000; and land revenue

fFufor ad 2014-15 @ fre Sa FT-AE T Rs.2,000 were paid during the year. A loan of
ST it T 6 s A & See s 54,000 Rs. 10,00,000 was taken for 10 years on 01.04.2006
L | @ 10% p.a. for the construction of the house

which was completed on 12.03.2008. Assuming

il that he has paid a loan of Rs. 2,00,000 till

31.03.2012, find out his taxable income for the

(F) 3 W 2T uR | A WY smew w A S assessment year 2014-15 if he donates Rs. 2,500
T B A i to Prime Minister’s National Relief Fund and

income of his minor daughter is Rs. 12,000 per

annum. (10)

(W) % @ wdu ¥ o o A s @ AR A
(b) Mr. Arun came to India from Australia for the

) & ufg ety :
() o T I e 5 A5 ¥ o first time on 03.10.2012. He returned to his home
A UN 80C B FetH weT W B country after staying in India up to 28.09.2013.
Will he be a resident in India for the assessment

year 2013-14 and 2014-157 (5)
PULED.
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OR

(a) The incidence of tax depends upon the residential

status of an assessee. Discuss fully. (5)

(b) Discuss deemed ownership in respect of income

from house property. (5)

(¢) What are the provisions of inclusion of income
from assets transfer to son’s wife of the assessee

in his total income? (5)
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Explain deduction under Section 80 DD in respect
of maintenance including medical treatment of

dependent who is a person with disability. (5)

Discuss the provisions of set off of speculative

business losses. ()

Differentiate between short term capital gain and

long term capital gain. (5)
OR
Define “assessee”. (5)

Mr. Tarun transfers the house property situated
at Pune on December 10, 2013 (Sale consideration
Rs. 60.00,000, stamp duty value Rs. 65.00,000,
expenses on transfer Rs. 50,000). This property

was purchased on July 7. 1995 for Rs. 5.00.000. -

To avail the exemption under Section 54, he
deposits Rs. 30.00,000 in capital gain deposit
scheme on January 30, 2014. Subsequently he
purchases the house property on June 20, 2014
for Rs. 25,00,000 (Investment is financed by
withdrawing from capital gain deposit account).

Find out the capital gain chargeable to tax for the
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assessment year

2014-15, if the index for the year

d for the year
(10)

1994-95 is 259, 1995-96 is 281 an

2013-14 is 939.
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¥qr #) @@ WE dF 20 WA 2014 W 25,00,000 T A
v E-Faf whe A # (T8 PRW T TR A
Freen A Y fEe @ wa 2)) Fior ad 2014-15
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3R 2013 -14=939

(39,000)



